KREMSBARRIER 1 RN2V bikePROTECT

Roadside Restraint System suitable for pile driving ground product specification sheet E115/1
conditions with motorcycle underride guard

EG certificate of conformity: 0052-CPD-2010 C €

tested in accordance with EN 1317-2:

containment level: N2

impact severity level: B

working width: W3

system test length: 15 sections or 57,00m, without driving

01/2015

voestalpine

www.voestalpine.com/strassensicherheit ONE STEP AHEAD.

voestalpine Krems Finaltechnik GmbH



KREMSBARRIER 1 RN2V bikePROTECT

Roadside Restraint System suitable for pile driving ground
conditions with motorcycle underride guard

for driving see E116 and E117

, 300=20 o
guardtail S1 5
30-011.3800- 160£20 | 140 | @

retaining bracket S1

product specification sheet E115/2

lug 2 x 40x 120

30-001.1350E
—\

THB M16x35-4.6 5
washer disc 18 x 4

1 pcs / connection bracket _—]
THB M16x35-4.6 |
washer disc 18 x 4
7 pes joint_—"g |
THB M16x30-6.8
washer disc 18 x 4

4 pcs / joint
2 pcs [ connection bracket

standard deflector type N

L\

+40

_/
/o]

1 pcs / post

hex bolt M10x25 Mu 4.6

washer disc 11
/z_mw

connection bracket
62.088.20091.0002 right
62.088.20091.0001 left

[T 1 pcs/guardrail

Defo V post RN2V
62.088.10091.9002 right
62.088.10091.9001 left
1 pes / post

62.088.10000.1210 %2(//}\///}\//\//\//\//

N\
M

Y

A\

THB M10x25-4.6
washer disc 11
S je 1 Stk. / Defo V post RN2V

V140-post 1,70m
30-001.2722D

I At
or

V140-post 2,20m
30-001.2722D

Defo V post RN2V connection bracket
62.088.10091.9002 right 62.088.20091.0002 right
62.088.10091.9001 left 62.088.20091.0001 left
1 pcs / post intermediate hole
38009 [ 38009 [ 38009
1 I 1 I
direction of traffic
01/2015
voestalpine Krems Finaltechnik GmbH VoeStaI p I ne

www.voestalpine.com/strassensicherheit

ONE STEP AHEAD.



SAFETY BARRIERS

KREMSBARRIER 1 RN2V bikePROTECT

Roadside Restraint System suitable for pile driving ground product specification sheet E115/3
conditions with motorcycle underride guard

installation drawing

THB M16 x 35 \

Q @ hex bolt M10 x 25
A / lug 120x50x2

D

/i
'

‘\‘ -,

<\

\
" z

\ #\#THB M16 x 35
!

THB M16 x 35

®

N\

@

THB M16 x 30

&) ©

THB M10x 25

THB M16 x 30
@ guardrail S1 @ standard deflector type N
retaining bracket S1 @ Defo V post RN2V
@ V140-post @ connection bracket

= 09/2011




